[ Efficiency vs vertpos |

~ 0.5

TP SRS N S— —

N
2
N

107 1

10 0?
TP vertr (cr%)

—
—_—

DQM_TT__original

DQM_TT__mod_xmodels_truthfinal_reg_modelTEST-27-PIXB

Efficiend —— DOM_TT__mod_xmodels_truthfinal_reg_modelTEST-27-TIB
—— DOM_TT__mod_xmodels_truthfinal_reg_modelTEST-27-TOB

~ 0.5
20.45
o

> 04
>

2
50.35
0.3

0.25]
0.2

0.15

effic

0.1----- #ﬁ ........

0.05F -+

A
g :

i

Vs

Ratio
N

PR "

o

13
oS
S

-20

-10 0

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

~ 0.5
>
B.0.45
=
175} 0.4
20.35
0.3
£0.25
(]
0.2

iency

Ja| W U

|
: p

0.952

0 =15 =10 -5 0

5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


